TIBEETERIABERXRFERABROHERICONT

(ERHEET)
AFEH
= =2, AN e 22
s %iﬁ\ﬁ HEEEL | FEREH | EBEBH Fp B AR R
(a) (b) B¥ zF =30 =¥\ (a)/(b)
EFEFEH 40 91 90 40 40 2 38 40 0 23
FEFH 12 28 28 12 12 0 12 12 0 23
wERAEER 12 8 8 8 8 0 8 8 0 1.0
UNEYT—2a EH 12 17 17 12 12 6 6 12
BEAATER 0 4
U/}/IF:%;;:;%?ﬂ 12 14 14 12 12 0 12 12 0 12
it 88 158 157 84 84 8 76 84 0 19
(S AREH)
AFEH
= =2, AN E--3 22
sy %iﬁ\ﬁ HEEES | FEREH | EBEBH Fp B AR BREE
(a) (b) B¥ ZF =30 [=¥)N (a)/(b)
EFEFEH 40 3 3 0 0 0 0 0 0 -
FEFH 12 0 0 0 0 0 0 0 0 -
wERAEER 12 0 0 0 0 0 0 0 0 -
o ;EF% ;;;%’Ifﬂ 12 1 1 0 0 0 0 0 0 -
s },'F:'% 4;;:/7&35;1?$ 4 12 0 0 0 0 0 0 0 0 -
Hi 88 4 4 0 0 0 0 0 0 -
(—f%)
AZEH BEE
A = g ;‘_"ﬂ l:tu.\n %;_.2 é *
o~ SHEANE | HEEES | 2ERES | BEEE WEH ey ey
(a) (b) (b)/(a) (c) BF TF 2N 251 (b)/(c)
EFEFEH 40 124 109 3.1 47 40 0 40 24 16 26
FEFH 13 41 37 3.2 14 13 0 13 10 3 2.9
wERAEER 13 27 26 2.1 20 17 1 16 4 13 14
s ;5%;;;%?*4 13 52 36 4.0 13 13 5 8 3 10 4.0
s },Eg;;gg;ﬂ 13 41 38 3.2 13 13 3 10 4 9 3.2
it 92 285 246 3.1 107 96 9 87 45 51 2.7
(&)
AFEH
=2, A e 2z
sy o HEEE | FEREH | EBEBH Fp B AR FREE
(a) (b) B¥ ZF =30 [=¥)N (a)/(b)
EFEFEH 80 218 202 87 80 2 78 64 16 25
FEFH 25 69 65 26 25 0 25 22 3 2.7
HERE LR 25 35 34 28 25 1 24 12 13 13
s ;5%;;;%?*4 25 70 54 25 25 11 14 15 10 2.8
e },Eg;;gg;ﬂ 25 55 52 25 25 3 22 16 9 22
it 180 447 407 191 180 17 163 129 51 2.3
EEFHIERBRAE
AFEH
,ﬁ“. AN E-2. 4 ;—'2
sy o HEEE | FEREH | EBEBH Fp B AR FREE
(a) (b) B¥ ZF =30 [=¥)N (a)/(b)
EFEFEH 10 8 7 2 2 0 2 2 0 40

X EREEBR - ABIOEEAEICONTIE. XS &5 TS84 LA,




